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�)LUVW�RI�DOO��WKH�$XWKRU�ZDQW�WR�WKDQN�*RG�IRU�KLV�EOHVVLQJ�DQG�JXLGDQFH�LQ�

RUGHU�WR�KHOS�WKH�$XWKRU�FRPSOHWH�WKLV�WUDLQLQJ�DQG�UHSRUW��7KLV�UHSRUW�LV�SUHSDUHG�

EDVHG�RQ�LQGXVWULDO�WUDLQLQJ�UHVXOW�FRQGXFWHG�E\�WKH�$XWKRU�GXULQJ���PRQWK�DW�0DQR�

%HDFK�+RXVH� DQG� ��PRQWKV� DW� .DQYD]� 3DWLVVHULH� 9LQFHQW�1LJLWD�� 7KLV� UHSRUW� LV�

SUHSDUHG�DV�RQH�RI�UHTXLUHPHQWV�WR�FRPSOHWH�WKH�'LSORPD�,,,�RI�&XOLQDU\�$UWV��

,Q� WKH� SURFHVV� RI� FRPSOHWLRQ� RI� WKLV� UHSRUW�� WKH� $XWKRU� KDV� UHFHLYH� PXFK�

JXLGDQFH�DQG�DVVLVWDQFH�IURP�YDULRXV�SDUWLHV��7R�WKDW�HQG��WKH�DXWKRUV�H[SUHVV�WKHLU�

VLQFHUH�WKDQNV�WR���

��� 0UV��+LOGD�7MDKMDQL�,VNDQGDU�DV�$GYLVRU�ZKR�KDV�JXLGDQFH�DQG�VXJJHVWLRQV�

XQWLO�WKH�FRPSOHWLRQ�RI�WKLV�UHSRUW��

��� 0U��5REE\�ZKR�KDV�KHOS�WKH�$XWKRU�ILQG�WKH�SODFH�RI�LQGXVWULDO�WUDLQLQJ��

��� 0U��=DOG\�,VNDQGDU�DV�'LUHFWRU�RI�277,002�,QWHUQDWLRQDO�0DVWHU*RXUPHW�

$FDGHP\�6XUDED\D��

��� 2WKHU�SDUWLHV�ZKR�ZLVK�WR�EH�UHIHUUHG�WR�DV�SDUHQWV�DQG�FROOHDJXHV��HWF��7KH�

$XWKRU�KRSH�WKDW�WKLV�UHSRUW�FDQ�EH�XVHIXO�IRU�XV�DOO�
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7KLV�UHSRUW�LV�RQH�RI�WKH�UHTXLUHPHQW�WR�FRPSOHWH�WKH�'LSORPD�'HJUHH��$OO�

VWXGHQW� IURP� 2WWLPPR� ,QWHUQDWLRQDO� KDG� WR� GR� WKHLU� LQWHUQVKLS� SURJUDP� IRU� ��

PRQWKV��$QG�IRU���PRQWKV� WKH�$XWKRU�GLG�KHU� LQWHUVKLS�SURJUDP�DW�0DQR�%HDFK�

+RXVH�%DOL�DQG�WKH�RWKHU���PRQWKV�DW�.DQYD]�3DWLVVHULH�9LQFHQW�1LJLWD���

0DQR�%HDFK�+RXVH�%DOL�LV�RQH�RI�EHDFK�FOXE�LQ�%DOL��0DQR�ORFDWHG�LQ�IURQW�

RI�3HWLWHQJHW�%HDFK�DQG�XVHG�³6ORZ�/LYLQJ�([SHULHQFH´�DV�WKHLU�PRWWR��,W�XVH�WKDW�

PRWWR�EHFDXVH�DSDUW�IURP�EHLQJ�D�EHDFK�FOXE�OLNH�DQ\�RWKHU�EHDFK�FOXE�LQ�%DOL�WKH\�

DOVR�ZDQW�WR�FUHDWH�D�SODFH�WR�UHOD[�DQG�MXVW�EH�FDVXDO���

2Q� WKH� RWKHU� KDQG� .DQYD]� 3DWLVVHULH� 9LQFHQW� 1LJLWD� LV� RQH� RI� WKH� EHVW�

SDVWULHV�LQ�%DOL��:LWK�ORWV�RI�EHDXWLIXO�DQG�IODYRUVRPH�SDVWULHV�WKH\�KDYH��LW�EHFRPH�

RQH�RI�WKH�IDPRXV�SDVWU\�VKRS�LQ�,QGRQHVLD��1RW�RQO\�VHUYH�SDVWULHV��LW�DOVR�VHUYH�

YDULRXV�IODYRU�RI�JHODWR�DQG�WHD�WLPH�VQDFNV�WKDW�DUH�QR�OHVV�DSSHWL]LQJ���

7KH�$XWKRU� OHDUQ� D� ORW� IURP�P\� ��PRQWK� LQWHUQVKLS� WKHUH�� IURP� KRZ� WR�
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